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5L\DQ�+D\ODQ�������� 3ROD�GDQ 3HUNHPEDQJDQ�3HUPXNLPDQ�GL�.HFDPDWDQ�
0DQGLDQJLQ�.RWR�6HOD\DQ�.RWD�%XNLWWLQJJL

3HQHOLWLDQ�LQL�EHUWXMXDQ�XQWXN�PHQJHWDKXL�SROD SHUPXNLPDQ WDKXQ����������
GDQ� SHUNHPEDQJDQ� SHUPXNLPDQ� GL� .HFDPDWDQ� 0DQGLDQJLQ� .RWR� 6HOD\DQ� .RWD�
%XNLWWLQJJL�

-HQLV�SHQHOLWLDQ�LQL�DGDODK�GHVNULSWLI�NXDQWLWDWLI��3RSXODVL�GDODP�SHQHOLWLDQ�LQL�
DGDODK�.HFDPDWDQ�0DQGLDQJLQ�.RWR�6HOD\DQ�GDQ�VDPSHO�SDGD�SHQHOLWLDQ� LQL�DGDODK�
SHUPXNLPDQ GL .HFDPDWDQ�0DQGLDQJLQ�.RWR�6HOD\DQ��$QDOLVLV�PHQJJXQDNDQ�PHWRGH�
WHWDQJJD�WHUGHNDW�GHQJDQ�EDQWXDQ�VRIWZDUH�$UF*,6������

+DVLO� GDODP� SHQHOLWLDQ� LQL� DGDODK�� ��� 3ROD� SHUPXNLPDQ� WDKXQ� ������1HDUHVW�
1HLJKERU�5DWLR ������� GHQJDQ�MDUDN�UDWD�UDWD��([SHFWHG�0HDQ�'LVWDQFH�����������
GDQ�]�VNRU��������� LQWHUYDO�7��LQGHNV�WHWDQJJD�WHUGHNDW��DQWDUD�����VDPSDL������+DO�
LQL� PHQXQMXNNDQ� EDKZD� SHUVHEDUDQ� SHUPXNLPDQ� GL� .HFDPDWDQ� 0DQGLDQJLQ .RWR�
6HOD\DQ� DGDODK� DFDN �UDQGRP��� ��� 3ROD� SHUPXNLPDQ� WDKXQ� ������1HDUHVW�1HLJKERU�
5DWLR �������� GHQJDQ�MDUDN�UDWD�UDWD��([SHFWHG�0HDQ�'LVWDQFH�������������GDQ�]�
VNRU��������� LQWHUYDO�7��LQGHNV�WHWDQJJD�WHUGHNDW��DQWDUD�����VDPSDL�������+DO� LQL�
PHQXQMXNNDQ� EDKZD� SHUVHEDUDQ� SHUPXNLPDQ� GL� .HFDPDWDQ� 0DQGLDQJLQ .RWR�
6HOD\DQ� DGDODK� VHUDJDP �GLVSHUVHG��� ��� 3HUNHPEDQJDQ� SHUPXNLPDQ� ���������� GL�
.HFDPDWDQ�0DQGLDQJLQ�.RWR�6HOD\DQ�\DLWX�VHEHVDU����������P��
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